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Consider the element, Zn with 30 electrons.
Fill in the orbital diagram on the left and then fill in the orbitals on the right to match.
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1f you bumped into a zinc atom (Zn), which electron(s) would you bump into? Draw a box around them.
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[image: image2.png]Now, consider the ion that zinc forms, Zn**. How many electrons does it have? 2&

IMPORTANT: Don’t fill the orbitals with the fewer number of electrons; fill with 30 electrons and then remove the

two OUTERMOST electrons... the ones you would “bump into”.

Consider the Oxygen Family: 2
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Draw the orbital diagrams for the four members of

Family 14:

Draw a box around the electrons that you would bump

into.
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Family Similarities and the Number of Electrons You Would Bump Into (the valence electrons):
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